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Algebra II B 4.8-4.9 Quiz Review
1. Use the quadratic formula to solve: x> +3x+1 =0 = (3) : \J (3‘}2 "M( 1\\(,\}

2. Usethe quadratic formula to solve: 2x* +5x+1 =0
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5. Arock is thrown from the top of a tall building. The distance, in feet, between the rock and the ground ¢ seconds
after it is thrown is given by d = - 16¢* - 2¢+ 633. How long after the rock is thrown is it 430 feet from the
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Graph.

6. Graph: y <—x* -3x
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7. Sketch the graph of the inequality. y < —2x* +8x—6
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What are the solutions of the quadratic equation?

8. x*+8=-15
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9. x*-11x+30=0
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Solve the equation.
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Use the Quadratic Formula to solve the equation.
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15, x*-x+7=20
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‘What is the number of real solutions?
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19.
12x* —4x =3
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22. Find the solutions of the equation.
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What is the solution of the system of inequalities?
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Use the quadratic formula to solve the equation.
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Tell whether the equation has two solutions, one solution, or no solution.
27. x2-Tx+11=0
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